Combined Graduate Level Examination Tier | 2022

Roll Number
Candidate Name
Venue Name

Exam Date 09/12/2022
|[Exam Time 9:00 AM - 10:00 AM
ISubject Combined Graduate Level Examination Tier | 2022

Section : General Intelligence and Reasoning

Q1 fow T afteRur ot g HA & e 5 g Temsit 3k = 3t gl & weR sgamn
E?)T?Zzo+2x2+2o=2oo
Ans X 1.23WR20, + 3R +
o 2.20 3R 40, + 3R -
< 3.220 3R 20, + 3R x
7 4.220 3R 40, + 3R x

Question ID : 26433096017
Status : Answered
Chosen Option : 2

Q.2 A fE ¢ uy # $o HYF AR I7P 91¢ I7 HYAT W A1uid $o fFsed R 1w f1 ke
T YT B T A, YA & ST JrATIE: T a2 A firsrar g1 3ef e v ik fbw
fruifea #3¥ f& F19 § e, T T Hy=1 &1 aifde T0 F gERu Fd 81

DY
LaftT, G #
1.9 G, H &I
frem:

|.'\=r1ﬁ:r,|-|%|
I.eEG, T BI
n. a4t H, G g1

Ans 2 1. el FISpY | TR T 8
X 2. Faq fIsp 111 STER0T Rl §
X 3. Faq fshe || STER0T HRaT §
2% 4. ot e srgERur va §

Question ID : 264330104947
Status : Answered
Chosen Option : 1

Q3 39 BT g B R FBIe g # 3 veR Taft § fore ver frafataa
Y =TT 3y § Teifed €1
(Fite: TEmsil Bt ITF gew il | fyutima farg famm, gof wemsit w nfordg wfeang #t
ST TR | ITeRVT & A 13 - Kty Aferant SR % SisATge AN ST 3fe 13
# fpar ST gpar 21 13 B 1 3R 3 § fauTra w3 iR e 1 iR 3 W nfdrdta dfpamg
FXA P AR TE B 1)

(19, 23, 4)
(13,27, 14)

Ans X 1.(25,26,2)
X 2.(25,27,4)
X 3.(25, 26, 4)
& 4.(25,27, 2)

Question ID : 26433087181
Status : Answered
Chosen Option : 4




Q4 A-BHTAfRfP A, B AT
A*BHIATRfF A, BT
A%BHTAIR P A, BRTUAY
A$SBHTIYZfF A BHTTIR
gfez*A$B-C*D%E R, dl Z®I E T HaY 872

Ans (1. T9
2. 778
X< 3. 7ad
X 4. 557

Question ID : 26433059900
Status : Answered
Chosen Option : 2

Q.5 fymedl o four mar #19 W1 sieR-wgE Frafif@a e ¥ vafug (2) & R W R
ST B YUl HYM?
DW, FU, IR, NM, UF, ?

Ans 7 1.FU

X 2.FV
X 3.GU

X 4.EV

Question ID : 26433066005
Status : Answered
Chosen Option : 1

Q6 TiL+MBTAIRfP L MBI LxBHTafgfo L, MPtaMI, L-mBT3f 8
& L, M &1 uTE 7, af Fafefad & @ o9 91 2vie g8 Fefid #xar g, ff A, B &1
ATEIEET 872

Ans " 1.A-B+C

X 2.A+B-C
X 3.A-BxC
X4 A-C+B

Question ID : 264330104996
Status : Marked For Review
Chosen Option : 4

Q.7 - fou U wy &, IR e g 3T T | vde g # (<) & il ok &) S Wew (1) &
Y 3R &Y TS e @ et adb/fFramEy A et 31 9 g S e abfamRiEy
P 3MYR W UM &1 3T 7¢ e § F fww & gg (e < Tl # 39 ducs
3t # favtfera frg farmm, guf wemsit ur wifrant frarfaa @1 st anfgw | Sarewor 137 -
13 IR GipaTd S b 13 & Se1/ae Ao ST 3nfe foram oI qehar 81 13 B 1 3R 3 &
e 3R 3R fFR 1 3R 3 W Kt wfpant e @t ergafa 6 R)

Ans X 1.9-83
X 2.7-51
& 3.5-23
X 4.11-123

Question ID : 264330105050
Status : Answered
Chosen Option : 3




Q.8 I N3-giH FT T4 HINMY, St St I Ty BT FA=q0r Hea 8, St ey few e 39
g | 3o g1
(gt @Y 3rfyul RIsgl & =T F HIFT ST TIRT 3R 3= Weg & 3&RI BT TSl Bt
TTRGR] B WS & SR W RER FaTUd g1 g1 T1ien)
TGS : FUIST

Ans 1 TGRS
X 2. first aR
< 3.

X 4.9 7

Question ID : 26433068414
Status : Answered
Chosen Option : 1

Q.9 frafafld IR sier-wgEl A & 97 freht Pt 8% J Ta € ok 1P o4 R B
ST HER-TE BT T BT
Ans 7 1.UVZ

< 2. XYA
7 3.QRT
< 4. MNP

Question ID : 26433069008
Status : Answered
Chosen Option : 1

Q.10 39 fyreq BT ag= BT, o TR Wee T I ypR HaRd 8, oy TR g1 Tes Ugd
Teg | afta @1 (Rreal B1 erfyuf & wregf & = § A W wifR e iR A wee # arery
B WS RER] B TS S MUR R TH-gak A Fafra T8 g4 =)
s Mg :.gq9:?
Ans X 1.931
< 2. ghoft
X 3.4
o 4. BR

Question ID : 26433068354
Status : Answered
Chosen Option : 4

Q.1 uw 3gwH feur mar 8, v | v ue gu 21 foy 7Y faweul ® | a8 udl fawey gy, ot

ST B TR BRI
NTSM, QNBA, THKO, WBTC, ?

Ans X 1.ZYQR
7 2. RMNO
 3.2VCQ
X 4. NMOP

Question ID : 264330104817
Status : Answered
Chosen Option : 3




Q.12 T® [Afd ge yTr #, "ANIMISM® BT INAMMSI* forRaT ST € 3R 'EAGERLY" &Y
'"GAEEYLR' forar Sirar g1 3¢t 4T # 'FULFILL 33 forar e

Ans X 1. LUFLFLI
25 2. LUFFIIL
/< 3. LUFFLIL
«” 4. LUFFLLI

Question ID : 26433059886
Status : Answered
Chosen Option : 4

Q.13 Fufafad vy & & 7¢ goar § ¥ qu oiw 3| IR
600, 565, 530, 495, 460, ?

Ans X 1.420
o 2.425
X 3.428
X 4.430

Question ID : 264330105027
Status : Answered
Chosen Option : 2

Q.14 oy TE giiERu & H1H-9 31 RIgl & WM WRER ged 37 J GHH0r Wi 8 wem?
7*9+3+7-3=25

Ans X1_+Gﬁ?—
X 2.+ 3R>
o 3.+ 3R+
X 4.+ 3R~

Question ID : 26433067845
Status : Answered
Chosen Option : 3

Q.15 T AR 21 55 A & are, - i gme
Ans 1. 7¥dR

X 2. 9HaR

X 3. HdaR

X 4. FaR

Question ID : 26433093111
Status : Answered
Chosen Option : 1




Q16 zdur =1 PR ‘AR W @R ¥, R A R & awe A wér gdor afafde @ a1

Ans

A

4. 4
AN

x 1.

x 4.

Question ID : 26433057949

Status : Answered

Chosen Option : 3




Q17 o FET AT BT A R F AR A AR Fer e
AT W Welel I TE FET wrs e

______ N

Ans

o
O o
O
<1 O O
O O
O o
O O
2 o ©C O O
O © O O
o o
o o]e) O
x3. |0 OO0 O
O O
o o
c 0O O o
_ 2 1 5
X< 4. o 0O
O O O O

Question ID : 26433080826
Status : Answered
Chosen Option : 2




Q18 35 famey sea & 907 S e & 712 i (x) 3T YT 6w ¥ [l 83 & (i & 9aH &1
AT T )l

Wz

Ans

P

X 4.

Question ID : 26433068914
Status : Answered
Chosen Option : 3

Q.19 I fypey &1 997 SR, St Heast T @ St yeR Faftd 2, R yoR gad S
T HE= § R Tt & uiEd! S | Hafid g1
8:448::9:7?::11:847
Ans X 1.562
X 2.577
X 3.576

o 4. 567

Question ID : 26433078943
Status : Answered
Chosen Option : 4

Q.20 & 7S &t T3t Ut 3 g B 3TN W WER gaa P UL HUM: JHBIT (1) qUT (1)
& 9 |1 g
x YT —, 4 9UT 2
L7-5x4+8+2
II.7x3-8%2+4

Ans 7 1.353
X 2.37,25
X 3.41,47
X 4.25,23

Question ID : 264330105151
Status : Answered
Chosen Option : 1




Q21 39 BT 7 P o ey o § 3t yeR wafta § o ver fafafaa
agggﬁgm T 3 W HEfRE B
(Fite: Tl F IuF geP it & il fg fam, gof wemnsei w nirhy wfearg #t
ST A1feT | IeTeeur & Rrg 13 - MMy wHikaTy S i StsTae Ao ST s 13
T forar o warar 81 13 H1 1 30 3 & v w1 3k 67 1 3R 3 W nifvrdia wifdrarg
B BN Al TE 1)

(182, 170, 97)
(156, 128, 92)

Ans X 1.(156, 194, 79)
< 2.(98, 74, 54)
« 3. (138, 130, 73)
X 4.(121,102, 61)

Question ID : 26433067924

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.22 % fAf3d Fe YT #, 'FELLOW' %1 'NGHYQN’ & ¥4 ¥ fRar Sirar @ 3R 'PURPLE' &1
“TWRGNR’ & =1 ¥ for@r Sirar 81 S} YT & ‘SUPRISED’ &1 34 ferar simemm?

Ans X 1. UWRTKUGF
7< 2. KUGFUWRT
« 3. TRWUFGUK
< 4. TRUWFGUK

Question ID : 26433067579
Status : Answered
Chosen Option : 3




: e smpfa-gmer =1 i W@ F fow s ma-fed (7) & W |
i & e ampfa e =nfge?

B o 8%
- - . J ?
A < v >
Ans B
x 1 Ch
A
9
x 2. "4
A
B
< 3. <~
\i
B
& 4 <
A

Question ID : 26433076658
Status : Answered
Chosen Option : 4

Q.24 ?ﬁqwﬁqw% foraes 91 1, 1 3R 11 | BHiTPd I Freed 3w e @1 wyl @ 9
YA § 3 I U F 79 aat § R wedla 819 g fofa difve fF fa-ar
ﬁwémmaﬂﬁwﬁmm%/mﬁél

mﬂ%aﬁ e i
P I, g T 31
P90 Peadl, faerfrar €1

1. Y 3, %—s'aﬂﬂﬁi?l
1. B 37 faer~ar 781 81

Ans 2 1. Had B | 3R 11 SFERY A §
< 2. baa (B | 3R BRI S
X< 3. Had (B | 3R 111 SR A §
X 4. Had B 11 SR Rl &

Question ID : 26433065690
Status : Answered
Chosen Option : 4




Q25 A & 715 Mpia ST F I TUT T A IIel AP FH T
EQIE

.f\)

Ans

Question ID : 26433068468
Status : Answered
Chosen Option : 3

Section : General Awareness

Q1 FafafEa & @ &9 a1 YRa & vgar 'y@ueE-ga I 82
Ans X 1. fE@BR

X 2. TRES

X 3. ISR

4. TeaT=e gam

Question ID : 264330105293
Status : Answered
Chosen Option : 4




Q.2 A GEF GR1 A HF ST I smaa- &1 fraw fore adf far mar ar?

Ans X 1.1812
< 2. 1800
< 3.1802
 4.1808

Question ID : 26433064081
Status : Not Answered
Chosen Option : --

Q.3 U ft PR F FHI Jerra) TIRT IR 3 T

Ans x']_q:cﬂ
o 2. FIasieEr
< 3. aRE et
X 4. varé

I 1 1

Question ID : 26433064305
Status : Answered
Chosen Option : 2

Q4 peara d Ma URe & T fig I T A1 B g frae dief 22

Ans X 1.13m
5 2.15m

& 3. 11m
5 4.10m

Question ID : 26433071566
Status : Answered
Chosen Option : 4

Q.5 I=qH UATAY & AT B Fad
Ans X 1. FE O HHT

X 2. TfAUM FT 3R

« 3. g galagr o sremar
X 4.8 RY

P ATYR R G ST TPl g

Question ID : 26433064845
Status : Answered
Chosen Option : 3

Q.6 YO A TOURN $YS T AP 31 R i & & fra wita s st

TR F a3 3t fi2
Ans X 1. IA=F HART
X 2. Rary et
X 3. piafe afear
4. Afgoh ure

Question ID : 26433090708
Status : Answered
Chosen Option : 3




Q.7 T 2021 & TR B} FRUR &1 W A 5T, YR IRPR & YW TATT 3 2021 &
SRTEIT O faaw & Swva & fore Fafafea & 9 fa e o1 ok femr?

Ans X' 1. ﬂ's'th"'r GﬁTl‘ﬁ'lTTé' (Home Yoga and Yoga Home)
o 2. A&, W W IG! (Be with Yoga, Be at Home!)
7 3. TR W N (Yoga at Home)
< 4. R RGN, GRAR T AN (Yoga at Home, Yoga with Family!)

Question ID : 26433064282
Status : Answered
Chosen Option : 4

Q.8 R4 ¥ a1 su@En gfg R ufova - af_ dgeq @l
Ans X 1.1991

2. 1981

< 3.1951

X 4.1971

Question ID : 264330105494

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.9 frEffad # & H-91 REPR 1998 § WRa-TeaH i1, RraelRi-t Mfde # wer fear
T UT?

Ans X 1. PG T
X 2. TR
X 3. g
o 4. HaTmERr

Question ID : 26433090704
Status : Not Answered
Chosen Option : --

Q.10 Fufafad & ¥ P Bifesr I oA gHed & IR FeT 41 i a8 90 3R fivdia & vy
T AfgATHS 8T BT T8 A afees Tue # wifa Tred A2

Ans 1 T {8
X 2. gdem
X 3. INE AR AW
X 4. R Ty I

Question ID : 26433085298
Status : Answered
Chosen Option : 1

Q.1 fgfifEa & @ $19 91 T YoivTg g T8 82
Ans X 1. RBR GRT YA & HRUE0 R 94
X 2. % WHR gRI B 3R 3B 4T
X 3. AR F Faw
o 4. TieuSt YaH

Question ID : 264330105389
Status : Answered
Chosen Option : 3




Q.12 il # & s WAl & A5ve RYW # 59 ToR & IR & @y fd §2
Ans X 1. 3ATHR I FABR

2. THR 7 AFAHR
X 3. By a1 JaeR
7 4. TAHR A1 TSR

Question ID : 264330105165
Status : Answered
Chosen Option : 2

Q.13 fgfafaa & 3 fFam 1498 & URd F g Tl urt @) @ie o1 A2
Ans 1_%1321‘5:3@

o 2. D! S T

X 3. Farzd dis

X 4. TR TR

Question ID : 264330105550
Status : Answered
Chosen Option : 2

Q.14 &5 B IRPHR A T IR 4T & R grersht arg 4y Serr yhed g I
I

Ans X 1.3y e
X 2. %
« 3. B

X 4. 3@H

Question ID : 264330105267
Status : Answered
Chosen Option : 4

Q.15 TSR ARF B AT A RE R
Ans X 1.5°N ¥ 10°N 3i&ie

2 2.30°N ¥ 50°N 31&ii

o 3. 10°N ¥ 30°N 3f&fier

< 4.10°N F 10°N 3r&ii

Question ID : 264330105605
Status : Answered
Chosen Option : 1

Q.16 IR & fre wer® a1 Wi # Fafafad o @ «ar Wi 32
Ans X 1.3dIied

X 2. fama &

X 3. F T

4. HSRU

Question ID : 26433064524
Status : Answered
Chosen Option : 2




Q17 ﬂ@wm%ﬁmmﬁsﬁrwsoﬁ B AR g e & g
Y|

Ans X 1. AU A
o 2. Ufaeu
< 3. WA & AMYHE Alsd
X 4. sfaRe fafeRur

Question ID : 26433092179
Status : Not Answered
Chosen Option : --

Q.18 1893 ¥, ¥ R I 7 TN Ugd S APEAS USIdl- TS NPT Bt
SIS AT B A T Foraw wra= ) ghar 872

Ans g 1. A TR (Alfred Werner)
7 2. faferaw I (William Ramsay)
7< 3. il €1 33 (George de Hevesy)
< 4. S STee (John Dalton)

Question ID : 26433064075
Status : Answered
Chosen Option : 4

Q.19 fay ¥ ged et 78, e Fafifea & 3 fra medu d fex sgdt 32
Ans X 1. )T

o 2. BIET

X 3. TR ekt

X 4. IR AR

Question ID : 264330105622
Status : Answered
Chosen Option : 4

Q.20 mgwﬁmmﬁmmmﬁ%mmmﬁmm
TEPE?
Ans X 1. ToRId
X 2. ISR
« 3. gRamn
X 4. I USY

Question ID : 264330105316
Status : Answered
Chosen Option : 4

Q.21 magaj%s%ﬂﬁﬁﬂ&ﬂ%ﬁﬁ&ﬁiﬁﬁﬂﬁ%ﬁﬁ%%ﬁ&ﬁmmm
"2
Ans X 1. 30
X 2. Y
X 3. PR g=aT1
o 4. T el

Question ID : 26433064826
Status : Answered
Chosen Option : 4




Q.22 fafafae o & forg awe o fow e it die vl &2
Ans g 1 HawT, WRT, 3OR IR RSl

X 2. g, AR, Tae #R oiefik
2 3. TRy, g, MR R Tae
X 4. 7igp1, Tdiar, RAR iR TTere

Question ID : 26433079556
Status : Not Answered
Chosen Option : --

Q.23 gﬁmmmmﬁmﬁﬁmwwm YNGEPITAT_ WEs
I

Ans X' 1, Igad Uid
o 2. S IS
X 3. Hamar ue !
X 4. USTTS Wi

Question ID : 26433085278
Status : Answered
Chosen Option : 3

Q.24 FHfifEd § 9 $19-91 T Aeit A= vew ea & wafta g2
Ans X 1. @I

X< 2. BIsA

X 3.33®

4. 4AH

Question ID : 26433054322
Status : Not Answered
Chosen Option : --

Q25 __ 9 o1 Iuan faske guf & Sare & R fmar s 31
Ans X 1 F1gCle

2. FRHA

X 3. SfiRfoH

X 4. TR

Question ID : 264330105484
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude




Q.1

bf-i-

a FAIETT
43

Ans bS
iy
8a‘

bS

N2 ——
8a3

bﬁ

3.

v 16a3
bB
Xa ——
16a2

T i FATICT FT 82

Question ID : 26433066177
Status : Answered
Chosen Option : 3

Q.2 42 cm HUTE FT TP 319 WP AP MUK ST AT 42 cm §, 24 cm B & a6t F 319
gﬁﬁmmélmﬁmaﬂmmaﬁﬁmiﬁm%awﬁwwﬁ
I

Ans X 1.67.50%
X 2.75.56%
X 3.56.65%
& 4.66.50%

Question ID : 26433065022
Status : Answered
Chosen Option : 2

Q.3 TS IR AU MM P 20% P A1H W I=dl 8, AP TP kg P T U ATH 800 g &
o BT & | ITBT ARfae® ATH Ufa<rd e Siferg|

Ans X 1.40%
X 2. 44%
X 3.42%
4. 50%

Question ID : 26433063864
Status : Answered
Chosen Option : 4

Q4 Apc uw TAMGEE BYSI§ 3R AB = AC. ZABC=55°, 3R AD, YR BC T ATHST €1 2BAD HT AT J1T

Gl

Ans X 1. gpe
& 2. 350
X 3. 50°
X 4. 55°

Question ID : 26433075013
Status : Answered
Chosen Option : 2




Q.5 Ife PTUH g F fig T W Ue wu=f Y@ 8, 3R 39 951 &1 % O & 3% OP = 17 cm @Y1
OT = 8 cm &, A WRRET Ws (AC) PT B GaTE FId Tl

Ans 7 1.15¢cm
/5 2.13¢cm
/< 3.14 cm
< 4.16 cm

Question ID : 26433075215
Status : Answered
Chosen Option : 1

% (a+by—ad+ b mEEE

Ans  _» 1 3ab(a+b)+2b3
< 2.-3ab(a + b) + b3
X 3.-3ab(a—b) + 2b3
< 4.3ab(a—b) b3

Question ID : 264330105938
Status : Answered
Chosen Option : 1

Q.7 10% B HUNTA I Fe fH¥ Uod ge & R 82
Ans X 1. 25.1%

X2 19.0%
v 3 27.1%

x4 26.2%

Question ID : 26433075550
Status : Answered
Chosen Option : 3

Q.8 5 3wl Pt YaQ IS T/ 2, St 88 & qufa: faursy g1
Ans X 1.68999

2. 99968
< 3. 99689
X 4. 66698

Question ID : 26433072993
Status : Answered
Chosen Option : 2




Q0 o aaE F e RRET wE F el R 2w @ e sk
ot (e Tt #) femm T 81 SR @ euEe d9fev AR sE
g I AT 99T H 3H AT

1800

1600

1400

1200

1000

300

600

400

200

i}

1650

1600

1537 1522

2015-16 2016-17 2017-18 2018-15 2015-20

By B fae

fre 7§ ¥ 2k s Ak BT F 99 w1 AR =EaE 32

Ans 7 1.2018-19
/52,2017 -18
/< 3.2016-17
/5 4.2019-20
Question ID : 26433080344
Status : Answered
Chosen Option : 1
O ®-aP @0 CP° o e e e p £q #r ¥
12(p-q)(q—1)(r—p) :
Ans 1
<=
3
1
v2 —
4
_ 1
X3 _
9
1
X4 =
2
Question ID : 26433080237
s . Not Attempted and
tatus :

Chosen Option :

Marked For Review




Q.1 3ig], T@Ifd 3R Tor1 TP A1y BT Hed §¢ fhelt B oY 4 A & g1 a2 wovelt B 1 gTaiion,
3 P B HTH I G HA | 9 fa &1 I979 @i, 3R w@far 9 B B 12 At
T T R AW | I BT 3P A BTH B RT B A fpam 1 &1 awg @

Ans X 1.16
X 2.24
& 3.18
X 4.12

Question ID : 26433075079
Status : Answered
Chosen Option : 3

Q.12 sin 28° sin 35° sin 45° sec 62° sec 55° BT HI T &2
Ans 1

& 1. '\E
X2 2

X 3.12
X 4.2

Question ID : 264330105895
Status : Answered
Chosen Option : 1

Q13 Gy arfarer Rfes Rvat & & ort & 3% auidr ¥ @ frwat & 3 100 # ¥ R 7w #)
am | At | B | R | et | g | v

73 78 81 88 77 70
2 71 78 84 77 70 71

g 72 77 82 92 71 72
farafafea # & fre faww & onf & $o A w948 e fFar?

Ans 1 SISl
X 2 f&d
X 3. 9
X 4 fagm

Question ID : 26433082516
Status : Answered
Chosen Option : 1

a4 gfg 5 sin?A+ 3 cos?A= 4, 0<A<90 °%,?ﬁtanAﬁFfH?ﬂTEﬁ"ﬂ?
Ans X 1.0

X 22

X33

o 4.1

Question ID : 26433061106
Status : Answered
Chosen Option : 4




Q.15 U@ gled § 120 FHA We & | BT 3Fd UR 62.5 kg &1 99 3 HHA Fewl § @
IS TP Bied BISdl g, df 3T YR 250 g HH &l el & | IH HHAR] AT BT YR [
Fiforg, R glea Sis faam

Ans 7 1.92.25kg
#< 2.90.50 kg
/< 3.64.25 kg
/< 4.78.75kg

Question ID : 26433074914
Status : Marked For Review
Chosen Option : 1

Q.16 &I T A 31T B TP e T W 135 km P g8l W &1 TH R A ¥ 8 a.m. R T L=
PRt § 3R B &Y 3R 25 km/h B AT | Tt 81 TP 39 PR 9 a.m.WR B | I &
Pl & 3R A B 3R 30 km/h B 916 A Tt 31 3 o o e

Ans X 1.10.45a.m.
X 2.11.30 am.
o 3. 11am.
K 4.10a.m.

Question ID : 26433081596
Status : Answered
Chosen Option : 3

Q.17 9 YRl P, Q 3R R A Te FA1d § YT forani P A Q | 35% 31 A wr fpg sk R
B QA 15% 346 T YT YU P A R B 2,412 Wall A D S faan afg 90% waerarsit
ﬁm%&:ﬂﬁaﬁﬁﬁémmaﬁumwmwaamﬁwﬁmﬁaﬁ
e frart e

Ans X 1.42.210
2. 46,900
< 3.42,800
X 4.48,500

Question ID : 26433074456
Status : Answered
Chosen Option : 2

Q.18 gt it bt ufkfY Hwsr: 264 V.7, quT 306 T.H. 71 ITH Pt F Heg R 13?2
Ans X 1329

X 2,259
X 3.16 9L
o 4.21 9.

Question ID : 264330105855
Status : Answered
Chosen Option : 4




Q.19 e & 7 AT 7 gHHI §RT SN TS Gead! Bt T Bt g2 B

Ans

gl | JEdH
A 34
B 48
50
D 100
E 64
F 110
G 16
A 4T B gRT e 3t 1€ Yo @) | 3R E 9yt F gRT ey a9t ¥ qeast @
TE & § BT 3R T 82
& 1.92
X 2.174
X 3.82
X 4.9

Question ID : 264330105705
Status : Answered
Chosen Option : 1

Q.20 10200 TUY BT T R 12.5 Ufa=ra ufaad $t 2 I fraa I79 A GTYRYT <UTe1 W 19125

Ans

TUI Y ARRfY?
X 1.6a¢
& 2.7
X 3.5a9
X 4899

Question ID : 264330105683
Status : Marked For Review
Chosen Option : 2
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Question ID : 26433079815
Status : Answered
Chosen Option : 4
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Question ID : 26433061393
Status : Answered
Chosen Option : 2

Q.23 96, 136 X 504 HT AYETH FATITAP (LCM) FT 872
Ans X 1.25872

X 2. 28564

 3.34272

X 4. 36548

Question ID : 26433079821
Status : Answered
Chosen Option : 3

O S afee o A $r TuEr ST

HF TRERAT
0-10 b
10 - 20 4
20 - 30 12
30 - 40 21
40 - 50 6
50 - 60 3
60 - 70 2

Ans X 1.34.2
X 2.326
 3.334
X 4.358

Question ID : 26433092156
Status : Not Answered
Chosen Option : --




Q.2

Ans

K 1.1cm
& 2.3cm
« 3.2cm
X 4.4cm

° BYST ABC H, 2B =90°, 3R £C = 45° § 141G AC = 2v2 cm 8. Tl BC FI A% 182

Question ID : 26433074247
Status : Answered
Chosen Option : 3

Section : English Comprehension

Q.1 Parts of the following sentence have been given as options. Select the option that

contains a grammatical error.

She is quiet a generous woman / to have donated / such a large amount / for the flood

affected people.

Ans X 1. such a large amount

< 2. for the flood affected people.

«” 3. She is quiet a generous woman

/< 4. to have donated

Question ID : 26433073828
Status : Marked For Review
Chosen Option : 2

Q.2 Rearrange the parts of the sentence in correct order.

In addition to

P. primary threat to the Kemp's ridley sea turtle
Q. capture in fishing gear like shrimp

R. threatened nesting habitat, accidental

S. trawls and gill nets continues to be the

Ans 7 1. RQSP

< 2.PQSR

/< 3.SPQR

/< 4.SQRP

Question ID : 264330104649
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate option to fill in the blank.

Ans

The activist is working really hard and was determined to
25 1. keep the wolf from the door

/5 2. have feet of clay
«” 3. move heaven and earth

5 4. blow his own trumpet

for this cause.

Question ID : 26433070551
Status : Answered
Chosen Option : 3




Q.4 Select the most appropriate ANTONYM of the given word.
Care

Ans X 1. Worry

/5 2. Concern

«” 3. Disregard

25 4. Attention

Question ID : 26433060897
Status : Answered
Chosen Option : 3

Q.5 Select the INCORRECTLY spelt word in the following sentence.
Being a conscentious and single-minded person, Tubai has become inquisitive and

perseverant in exploring young talents.
Ans X 1. perseverant

5 2. exploring

< 3. inquisitive

«” 4. conscentious

Question ID : 26433058613
Status : Marked For Review
Chosen Option : 3

Q.6 Select the most appropriate meaning of the underlined idiom that can be substituted in
the following sentence.

| begged him to reconsider my application, but he put his foot down.
Ans X 1. agreed to reconsider

” 2. refused to yield

/< 3.did not run

/< 4. stamped his foot down

Question ID : 26433072225
Status : Answered
Chosen Option : 2

Q.7 Select the correct direct form of the given sentence.
He said that he was sorry for all that.

Ans X 1.“l am sorry for all then.” He says.
25 2. “l was sorry for all this.” He said.
«” 3. “l am sorry for all this.” He said.
25 4. “l am sorry for all that.” He says.

Question ID : 264330104626
Status : Answered
Chosen Option : 3

Q.8 Select the most appropriate synonym of the underlined word.
The heavy and abundant rainfall has a major role to play in the production of crops.
Ans X 1. Prolonged
< 2. Cyclonic
«” 3. Ample
25 4. Intermittent

Question ID : 26433071781
Status : Answered
Chosen Option : 3




Q.9 Select the most appropriate option to fill in the blank.
He is diligent, therefore he will .

Ans X 1. fail
< 2. remain
«” 3. succeed

X 4. fall

Question ID : 26433086341
Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate synonym of the underlined word in the given sentence.
| could not sleep because | was too eager, so | got up early and dressed.

Ans ¢ 1. Exhilarated

5 2. Apathetic

/< 3. Satisfied

< 4. Tensed

Question ID : 26433060359
Status : Marked For Review
Chosen Option : 1

Q.11 Select the most appropriate option that can substitute the underlined segment in the

given sentence.
Computers and mobile phones have become a necessary and important part of our

lives.
Ans X 1.arequired

/< 2. arequisite
«” 3. an essential

/< 4. aneeded

Question ID : 26433086466
Status : Answered
Chosen Option : 3

Q.12 Select the sentence with the appropriate use of preposition.
Ans ¢ 1. He arrived on Sunday morning.

/% 2. He arrived to Sunday morning.
/< 3. He arrived at Sunday morning.
/% 4. He arrived in Sunday morning.

Question ID : 26433073890
Status : Answered
Chosen Option : 1

Q.13 Select the INCORRECTLY spelt word in the following sentence.
The ruthless story of Pankaj’s assassination in the Carribean islands is thrilling to

read.
Ans X 1. assassination

< 2. Thrilling
«” 3. Carribean
& 4. ruthless

Question ID : 26433058607
Status : Marked For Review
Chosen Option : 3




Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

He will talk about nothing but films.
Ans X 1. shall talking of

5 2. is talking in
< 3. was talking at
o 4. talks about

Question ID : 26433073838
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate option to complete the given sentence.
The news of his arrest spread rapidly in every of the city.

Ans X 1.rack and ruin
«” 2. nook and corner
< 3. life and soul
/5 4.ins and outs

Question ID : 26433084703
Status : Answered
Chosen Option : 2

Q.16 Select the option that expresses the given sentence in passive voice.

The sewage water smells foul.
Ans X 1. The sewage water has a foul smell.

/< 2. Foul is smelt by the sewage water.
/< 3. The sewage water is foul when it is smelt.

«” 4. Passive construction is not possible.

Question ID : 26433072472
Status : Answered
Chosen Option : 3

Q.17 Select the correct passive form of the given sentence.
A stranger buys flowers for the dead man’s grave.

Ans X 1. Flowers have been bought by a stranger for the dead man’s grave.
«” 2. Flowers are bought by a stranger for the dead man’s grave.
/< 3. Flowers were bought by a stranger for the dead man’s grave.

/< 4. Flowers is bought by a stranger for the dead man’s grave.

Question ID : 264330104554
Status : Answered
Chosen Option : 2

Q.18 Select the option that can be used as a one-word substitute for the given group of
words.
A battle or anything involving or causing much bloodshed

Ans X 1.Ineffable
< 2. Autocracy
/% 3. Redtapism

«” 4. Sanguinary

Question ID : 26433060183
Status : Answered
Chosen Option : 4




Q.19 Select the most appropriate synonym of the underlined word in the given sentence.

Truth can never be concealed from anyone.
Ans X 1. Borrowed
/% 2. Snatched
/< 3. Separated
«” 4. Disguised

Question ID : 26433071958
Status : Answered
Chosen Option : 4

Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence.
After a prolonged discussion, Gayatri got a permission from her parents to study law.

Ans ¢ 1. got permission
/5 2. got her permission
< 3. got the permission
/% 4. got proper permission

Question ID : 26433085582
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Child marriage is a kind of right exploitation as to (1) in practically all areas, the
kid must be at least 18 years old. As a result, marrying off a kid before they reach the age of
(2) is an exploitation of their right. The long-standing (3) of child
marriage is one of the most prevalent reasons of child marriage. The elders want to plan for
the (4) of their family, so they marry off the children to establish their position. Most
crucially, poor individuals marry children to get rid of their debts, taxes, dowry, and other

()

SubQuestion No : 21
Q.21 Select the most appropriate answer to fill in blank 1.
Ans X 1.vote

o 2. marry
Z< 3. bind
5 4. mature

Question ID : 26433084868
Status : Answered
Chosen Option : 3




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Child marriage is a kind of right exploitation as to (1) in practically all areas, the
kid must be at least 18 years old. As a result, marrying off a kid before they reach the age of
(2) is an exploitation of their right. The long-standing (3) of child
marriage is one of the most prevalent reasons of child marriage. The elders want to plan for
the (4) of their family, so they marry off the children to establish their position. Most
crucially, poor individuals marry children to get rid of their debts, taxes, dowry, and other
(5) .
SubQuestion No : 22

Q.22 Select the most appropriate answer to fill in blank 2.

Ans X 1. adult
/5 2. growth
< 3. restrain
«” 4. consent

Question ID : 26433084869
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Child marriage is a kind of right exploitation as to (1) in practically all areas, the
kid must be at least 18 years old. As a result, marrying off a kid before they reach the age of
(2) is an exploitation of their right. The long-standing (3) of child
marriage is one of the most prevalent reasons of child marriage. The elders want to plan for
the (4) of their family, so they marry off the children to establish their position. Most
crucially, poor individuals marry children to get rid of their debts, taxes, dowry, and other

()

SubQuestion No : 23
Q.23 Select the most appropriate answer to fill in blank 3.
Ans X 1.faith

«” 2. custom
/X 3. hassle
5 4. taboo

Question ID : 26433084870
Status : Answered
Chosen Option : 2




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Child marriage is a kind of right exploitation as to (1) in practically all areas, the
kid must be at least 18 years old. As a result, marrying off a kid before they reach the age of
(2) is an exploitation of their right. The long-standing (3) of child
marriage is one of the most prevalent reasons of child marriage. The elders want to plan for
the (4) of their family, so they marry off the children to establish their position. Most
crucially, poor individuals marry children to get rid of their debts, taxes, dowry, and other
(5) .
SubQuestion No : 24

Q.24 Select the most appropriate answer to fill in blank 4.

Ans X 1. coalition
/5 2. evolution
/< 3. creation

«” 4. extension

Question ID : 26433084871
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Child marriage is a kind of right exploitation as to (1) in practically all areas, the
kid must be at least 18 years old. As a result, marrying off a kid before they reach the age of
(2) is an exploitation of their right. The long-standing (3) of child
marriage is one of the most prevalent reasons of child marriage. The elders want to plan for
the (4) of their family, so they marry off the children to establish their position. Most
crucially, poor individuals marry children to get rid of their debts, taxes, dowry, and other

()

SubQuestion No : 25
Q.25 Select the most appropriate answer to fill in blank 5.
Ans X 1. activities

< 2. evils
/5 3. mitigations

o 4. obligations

Question ID : 26433084872
Status : Answered
Chosen Option : 1




